PISCO GPD Series C€

For your safety, please read the following before usin

@ Do not use corrosive or flammable gas or liquid with this product.

@ Please use within the rated pressure range. Do not apply pressure
beyond recommended maximum withstand pressure, permanent
damage to the pressure gage may occur.

® Do notdrop, hit or allow excessive shock. Even if pressure gage
body appears undamaged, internal components may be broken and
can cause malfunction.

@ Do not use in environment containing steam or oil vapor.

® This product is not explosion-proof rated. Do not use in atmosphere
containing flammable or explosive gases.

® Using filter can extend pressure gage’s service life.

@ Please be sure to use an air release port for the atmosphere,
releasing it.

SPECIFICATIONS
TYPE GPD-V-0] GPD-OJ
(Vacuum) (Positive)
Rated pressure range -101 ~ OkPa 0.000 ~ 1.000MPa

Display pressure range -101 ~ 10kPa(*3) -0.100 ~ 1.000MPa(*1)(*2)

Withstand pressure 300kPa 1.5MPa

Applicable fluid Filtered air, incombustible and non-corrosive gases

Pressure kPa 1 -
resolution MPa — 0.001
Battery CR 2032 lithium(*5)
Battery life 3 year (Display turn on 5 times / day)
Low-power indicator Yes

Battery replaceable Yes

Turn-on interval Display turn off after 60 sec.

Sampling rate 2 Hz (2times/sec.)
Repeatability

LCD display

$£1% F.S. 1 digit £0.2% F.S. 1 digit

7 segment, 3.5 digit

Indicator accuracy < 2% F.S. 1 digit (ambient temperature: 25 +3°C)
1P65(*4)

Operation: 0 ~ 50 °C, storage: -10 ~ 60 °C
(No condensation or freezing)

Enclosure
Ambient temp. range

Environment ~ Ambient humidityrange = Operation/Storage: 35 ~ 85% RH ( No condensation)
Vi Total amplitude 1.5mm or 10G, 10Hz-55Hz-10Hz scan
Gl for 1 minute, two hours each direction of X, Y and Z

Shock 100m/s” (10G), 3 times each in direction of X, Y and Z

<+2% F.S. of detected pressure (25°C) at temp.

Temperature characteristic range of 0~50°C

Weight Approx. 40g

*1.(GPD-[J Series (Positive)) The display at the time of impressing vacuum
pressure will be [figure-1, figure-2]
“2.(GPD-[] Series (Positive)) Display pressure range wthin -0.1~0MPa is not guranteed

Figure-1

Figure-2

*3.(GPD-V-[ Series (Vacuumy) Display pressure range wthin 10~0kPa is not guranteed
“4.Air tube must be installed to maintain IP65.(See section K)
“5.If it is used by the battery besides specification, it will become a fire and a cause of an electric shock.

ORDERING INFORMATION

GPD -[V]-
m

0] )
® Pressure Port

@  BackLight
: v [ vacuum (-101-~0kPa) 01 [R1/8, M5
GPD | digital pressure

@ Rated Pressure Range
Battery powered
N1 |NPT1/8, 10-32 UNF

gage B\ankl Positive (0.000~1.000MPa)

Optional Parts
ACPG-31-B1
ACPG-31-B2
ACPG-31-P1
ACPG-31-P2

Mounting bracket

Mounting bracket
Panel adapter (PA-3+PA-4)
Panel adapter + Front protective lid (PA-3+PA-4+FPC-2)

Setting Button

PANEL DESCRIPTION
(Vacuum) (Positive)
Battery Meter Psco F;L_,IS.CO e
Pressure Display .' E E B
[P}

DIMENSIONS

2-M3X0.5

TQ

20

\  N1:NPT1/8,10-32 UNF

Hex 12
Unit:mm

BATTERY STATUS /INSTALLATION

FOLLOW THE STEPS BELOW

® Using a flat screwdriver size 1.4 ~ 3.0 mm insert into the back of the

pressure gage as pictured. (See figure @)

® Turn the screwdriver horizontally 90° to separate the case and the base.
Repeat this process again for the other side. (See figure @)

e Carefully remove the outer cover (See figure @), and follow the diagrams
below to replace battery and reassembly. Incorrect battery installation will

cause malfunction.

X Battery exchanging work is a thing of the cautions to invasion of dust and

aforeign substance.

XA pressure display unit and a zero point return to a factory-shipments value

after battery exchange.

Again, please redo a pressure display unit setup and a zero point setup.

OPTIONAL PARTS DIMENSIONS

Mounting bracket

M3x0.5

'W._Mounting bracket ACPG-31-B1

ACPG-31-B1

20

42| |

|

- J

M3x0.5

\Maummg bracket ACPG-31-B2

ACPG-31-P1/P2

Front protective lid FPC-2

Panel adapter PA-3

31

)
~—

54,

+0
x31.0.4mm

Panel adapter PA-4

Uer
5mm

Panel adapter PA-3
4

e

04
vy
- J

Panel adapter PA-4

Front protective lid FPC-2
85,

.
344
4
344

w298

- Unit:mm
B MPa kgficm mmHg psi bar
1kPa 1 0.001000 | 0.010197 | 7.500616 | 0.145038 | 0.010000
1MPa 1000 1 10.197 7500.616 | 145.038 10
1kgficm” | 98.0665 | 0.0980665 1 735.559 14.2233 | 0.980665
1 mmHg 0.13332_| 0.000133 | 0.0013595 1 0.019336 | 0.0013332
1psi 6.895 0.006895 | 0.07031 51.7157 1 0.06895
1 bar 100.0000 | 0.100000 [ 1.01972 750.062 14.5038 1

POWER-SAVE MODE

© The pressure gage will enter power saving mode if the @ button is not
pressed within 60 sec.
© Inmeasure mode, press the @ button to extend display for 120 sec.

Measure mode Power-Save mode

ZERO POINT RESET

Under measure mode, press @ button
for 2 ~ 5 seconds.

* Please perform zero point adjustment after making a pressure supply port
into an air patulous state.

DUST AND SPLASH ENVIRONMENT

@ To maintain IP65, please insert an air
tube (O.D.: 4mm) into atmospheric
release port and pipe the other end away
from dust/ spattering liquid environment.

Airtube

® Use proper air tube dimension of
0.D.:4mm, |.D.: 2.5mm, and the length is
depending on the user’s environment.

Atmospheric release port

ERROR CODE INSTRUCTION

Error Type |Error code Error Condition Troubleshooting

Residual
pressure error

Change input pressure to ambient

E During zero reset, ambient
rr i pressure and perform zero reset again

pressure is over +3% F.S.

Supply pressure is exceeds the
upper limit of pressure setting

LLL | Supply pressure s exceeds the

--% | lowerlimit of pressure setting

Applied
pressure error

Adjust the pressure within operating
pressure range.

When battery level is under
2.40V, the battery symbol
and bRt will flash 4 times
then enter power save mode

Battery error| Ak Replace battery.

NIHON PISCO co, Lta OVERSEAS MARKETING TEAM
3884-1, MINAMIMINOWA, KAMIINA, NAGANO-PREF., 3094588 TEL +81-(0)265-76-7751
FAX +81-(0)265-76-3305

PR-0276D 2020/02 Printing We reserve the right to change the specification without prior notice.




PISCO GPD Series C€

HIR0064-01
EWXTFIORINENT - ERABOEEREE
@ BaM TREA ARV ERETRIETICEALEZVWTIESD,

QRBOHBBANTRIEFCEAL B VTSN, HEBAATIEACEY S
T, BE, BA, FLLUFHOETEELUET,

QBRLE, HREFLLLY, T5FLYRVEEEZSXZVTESL., S48
FHBLTR<STEABIRBLTVZAERFI GV ET,

@BBEONNBIRETREALBEVTLESD, T, KRVV—AR—MASKE
RIBICK, BREFMANDEBIOBZBERARIV—AR—RNCF1-T%%
BRUTRAZRERN (KEF AP SBUA ) FTHELTKEEZ L., ZOBF
A—TEFVEFLY ., RRESSHABVRICITER<LEE L,

O BHBERTEVLY, BRME, BREESAOSIBMETHEALEVTILE L,
®ZHEANKRERE., FRROEFMICIT7ALREREELTEE L,
@ BFARENI)—RAR—FERKISEARLTIEALESL,

TR
il GPD-V-D(EE) GPD-OJ .
ERENEH -101 ~ 0kPa 0.000 ~ 1.000MPa
EhRRER -101 ~ 10kPa(*3) -0.100 ~ 1.000MPa(*1)(*2)
i 300kPa 1.5MPa
bl bt =R, FRREFREAR
RTfER kPa 1 -
5 R EE MPa - 0.001
ity CR2032 U F7 LBt (5)
BiEH HBF (1BCSERTDBE)
EHEETRAME "
BB K| RE
REEH REVEHLTH S 60 B
RREH 2Hz (281 / )
RYBL# S£1%F.S. +1 digit ££0.2% F.S. +1 digit
LCD R 724, 3.5digit
RNME +2% F.S. +1 digithA T (B ERE : 25 +3°CH)
REWE 1P65 (*4)
LI fom L ACC- B EREAEEE S )
AERESE BERRURER : 35~85%RH (BBEEE L)
= 5 >
EED B i 5 0 S P
it 8 88 100m/s* X, Y, Z& A3 B
BERKE RAEH D +2% F.S. (25°CH)
HE (EB) #9409 (BB L)

*1.GPD-O0> V-X(EEACAEZOML BE [R1.H2] o
LOLRTRENFET. BE1 B2
*2.GPD-0¥ V=X (EEA) LB W T-0.1MPa~0MPad BH i X REERIEBENTT .
*3.GPD-V-0O> U —X (REAM) LH\V TOkPa~10kPad BE K R REERTEBEATT .
"4 IPESEMB TR LH ARV Y —AR—NCF 1T EZRAATHEAL TS,
BEENOBBTEATIE, KAPBRBOREERYET,

ENRES
GPD -[V]-
@ @) ®
N}
O aEn B|[@ mgEH®BE]|[O® K-ty
[ero[mED7—3 || v [RE(101-0kPa) 01 ?(—
®55 | EE (0.000~1.000MPa) 7
N1 | 555 10-320N

F7avN=Y
ACPG-31-B1 | Biff T &£ 8
ACPG-31-B2 | Biff 1+ & 8
ACPG-31-P1 | NRL TS 72 (PA-3+PA-4)
ACPG-31-P2 | N7 H 7 R+§iE 5 /N — (PA-3+PA-4+FPC-2)

NIRRT

BHEERT
EART

P

B R

2-M3X0.5

]9 20
16|
155
225 37
30 ‘ 218
| \
01: S EAR
0 I WEA R
S 30 [ NT:AEAR
REXZ
G0 0
Hex 12
B{:mm
Bith 3
X#FE

OBBEBABTLETE, BHRBRTIARBLES.
OXAFTARTAN (YA X 1.4mmX3mm)Z EEH/NRI)LOBICEAH

9O0ERL, /JYFASHLTLSEZL,

QEEANZXLMAASIAFTARTANEERLK, /Y TFHSRRE
ALET. BRIC. £85-FE /Y FASHALTKEZ L,

QEANFILESEHRVTEZV,

OummUTOBRNIEZFEAL, FLVEBRERMUALTILEE L,
OBHOMEICEREL, HLLEBBEBBALTSEET L,

QERANFLEFBALT, BHXBRET T,

1) BMRBERITI, 7N, EVOEAERL TH2TKEE W,
E2) BERMEORREERCEORKR IHEAELCRY ET,

M3x0.5

W Bfil1£8 ACPG-31-B1

ACPG-31-B1

M3x0.5

\Mm; ACPG-31-B2

@ NEANTFETH

#@EA/N— FPC-2

NXLTFHT 5 PAN
l—

}

ACPG-31-P1/P2

31x31.0.4mm

tS4 5mm

NxLT AT % PA-4

(/\'i)LTE‘7’5I PA-3

4

Er
J

G

{/\Z}L7ﬁ7a PA-4
3

| 302 |
33
504

#WEAH/N— FPC-2

.
384
I }

344

w298

BE—k

© 60 # @ K2V EWESBH B [HBE-FYYEDYES.
O BMEE—RAICAI AR ZHTERTHHARB1200BCERELET,

60 X[E£1207

S RELZL

tORABE—F

XENRBA— N EZARBBREICL TH S EORBEET > TKEET W,

IP65 DHERD 128 I

OIPESEMIBET B ICET
1—7 (HED4 - AR
@2.5) #REVU—R"
R—RABALET,

eFi1—TJReEBGRI1-—¥—n

RECLYBEBEREL TL
Fai PYUDESTISN
IS—RTHHA
I5—%% |I17-%7 mE i 5k
= TO[BEE, £3%F.S. UL REC )
muzrr-| 6o |SHERRE, e E| agpizpuRe TagPe
W | REDHEREDBED
EREHTo— LREBTLS, DI £ R D BES A
WL | amErrEREREES | VTPV
TREBATUWS.,
®HEBIS—| bAE EREEN2AVAT. ThERRL TS

B {:mm

~—
EHBuERK

B kPa MPa kgficm® mmHg psi bar
1kPa 1 0.001000 0.010197 7.500616 0.145038 0.010000
1MPa 1000 1 10.197 7500.616 145.038 10
1kgflom’ | 98.0665 | 0.0980665 1 735.559 14.2233 | 0.980665
1mmHg 0.13332 0.000133 0.0013595 1 0.019336 0.0013332
1psi 6.895 0.006895 | 0.07031 51.7157 1 0.06895
1bar 100.0000 0.100000 1.01972 750.062 14.5038 1

maExE IR

AHTH ) RHFREAH R HP3-9-32
T394- 0089
TEL : 0266(28)6072(fk) FAX : 0266(28)7349

m=ex PR AR 76

At BRI/ REREFRBEERTI84-1
T399-4586
TEL : 0265(76)2511(f€) FAX : 0265(76)2851

PR-0275D 2020/02 Printing We reserve the right to change the specification without prior notice.




